[image: ]Mathematics – Grade 3 – Term 2 (2019)
Formative assessment task – Problem solving I
Class: _Class_ Date(s) of observation: _Date_
Instructions: 
· Set the assigned problem during a mat-work session, learners to work in their mat-books;
· Observe the learners as they work on the problem; and
· Complete the strategy and answers ratings for each learner – repeat until all learners are assessed.
	Mr Daniels sells apples.
He puts 4 apples in a bag. 
He has 75 apples.
How many bags can he fill?
	Calculation strategy
	Answer
	Total

	
	[image: ]
	[image: ]
	[image: ]
	18 bags and 3 apples left over or 19 bags
	18 bags
	

	
	
	[image: ]
	[image: ]
	
	
	

	(NSWKBK pg. 7 #5)
	[0] – [1]
	[2] – [3]
	[4] – [5]
	[1]
	[2]
	[7]

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	



Mathematics – Grade 3 – Term 2 (2019)
Formative assessment task – Problem solving II
Class: _Class_ Date(s) of observation: _Date_
Instructions: [image: ]
· Set the assigned problem during a mat-work session, learners to work in their mat-books;
· Observe the learners as they work on the problem; and
· Complete the strategy and answers ratings for each learner – repeat until all learners are assessed.
	Mrs Twala makes dresses. She uses 3 metres of materials to make one dress. How many dresses can she make with 15 metres of material?
	Calculation strategy
	Answer
	Total
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	4 dresses and 1 and       2-thirds left over
	4 dresses
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	(NSWKBK pg. 43 #3)
	[0] – [1]
	[2] – [3]
	[4] – [5]
	[1]
	[2]
	[7]

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
	

	Name
	0        1
	2        3
	4        5
	1
	2
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